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ER2TFE FKLEBRRERFRFE AT

(B FH)
ek B A B
#R3E T IR BEIERK pam | s NRE

FAR =R 23 27 413
FAR +FHET 23 27 5,145
FAR =FH 25 27 1,489
FAR HFHET 27 31 1,278
AR B FI AR 27 31 8,377
iz IR BR S AT 24 28 4,964
Iz 1R LI 26 30 19,369
BEE 5 MR T 23 27 2,011
BEE AENITH 26 29 5,398
ZKIHIR t&MAT™ 22 28 12,577
ZIHIR INEETH 25 29 5,303
ZKIH IR AKIEHLLTH 26 29 3,711
ZKIH IR W=blahmm 27 31 35,020
PN WA 26 30 35915
PN Beidt 27 31 26,305
ENC MARILT 27 31 11,486
HER Fh 23 27 7,941
HER NS 23 27 306
HER FTEINFET 23 27 4,884
HER KSRHET 23 27 8,694
HER XHETH 27 31 57,919
HER BHE™ 27 31 11,546
HER A 27 31 1,937




ER2TFE FKLEBRRERFRFE AT

(B FH)
ek B A B
#R3E T IR BEIERK pam | s NRE

FER #h/7 i@ 24 28 3,740
FER g 26 30 1,202
FER ﬁixﬁfﬂigim 27 31 4,265
RIHR B % R T 23 27 680
EINES i 24 27 389
alg INRTR 27 31 295
BINE mE 27 30 2,349
BHE fg LT 27 31 441
TS M7 ITRH 23 27 2,938
TS SE ] 25 29 5,567
TS ELrTEHEM 27 31 10,973
IWHE KA 27 31 7,913
IWHE T 27 31 6,278
TS et 27 31 19,506
EHE ¥ FHIRAT 27 31 46,841
EHE YRIpf T 27 31 680
EHE FIRh 27 31 5,484
I B2 IR e 23 27 5,106
I B2 IR = J 1) 23 27 10,895
Iz B 18 = ST 27 31 9,508
ZFHNE iIm™ 27 31 4,094
BHE E=y—1i] 27 30 221




ER2TFE FKLEBRRERFRFE AT

(B FH)
Hh izt A BT
H#PIE AT IR EXEHK i | s N~EE

=ER Fidinil 23 27 9,909
=ER BAFOHET 23 27 7,873
=ER F{FEAET 24 27 5,481
=ER FET 27 31 17,698
=ER FEH 27 31 41,525
HER BEM 23 27 706
AR KT s 27 31 11,125
R ERRT Fiamh 27 31 2,476
R ERRT &R ™ 27 31 294
EIE L FFET 23 27 381
SRE HEM 27 31 38,421
f 1L IR HFEAT 23 27 18,452
f 1L IR SEIRHET 23 27 4,028
fiE] L1 18R ] LT 27 31 150,536
f 1L IR p=SIIG] 27 31 39,501
fiE] L1 18R B EHT 27 31 2,422
fiE] L1 18R ST 27 31 2,132
f 1L IR SR ETHT 27 30 2,070
f 1L IR A KEFHT 27 31 1,298
fiE] L1 18R FR™ 27 31 9,408
LSRR =R 22 27 13,396
LER NS 27 31 9,000
LR Bt 27 31 46,780
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(B FH)
ek B A B
#R3E T IR BEIERK pam | s NRE

mER e300 23 27 7,689
mER mE™ 26 28 33,050
mER BT R T 27 31 10,663
e R aEm 27 29 2,903
e R RET 27 30 13,486
EHER A m|HET 23 27 19,278
EHER i=¥5h 23 27 12,300
EHER W3] 26 30 78,068
EHER fEiEm 27 31 31,988
EHER AT 27 31 5,182
EEE ST 27 31 39,801
EHER B AT 27 31 8,579
RIGE HE™ 22 27 63,706
RIBGE {EHRT 27 31 42,006
ROR BHET 27 31 13,115
=R R HT 25 28 5,228
EREE bR ™ 26 30 35,660
EREE BERE™ 27 31 45,189




